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1 Introduction
In this paper, we provide our view for the requirements with DRX in use, and it will have impact on the following requirements for NR-U.
· RLM INS 
· CBD 
· intra-frequency measurements without/with gaps 
· inter-frequency measurements
· L1-RSRP
2 Clarification for the requirement with DRX in use
When one DRX cycle contains multiple SMTC occasions, it is completely up to UE to choose which SMTC occasion for measurement. The only way to guarantee UE to receive a valid SSB during a DRX cycle is to transmit all SMTC occasions within that DRX cycle. One the other hand, even if there is just one single SMTC occasion no transmitted in a DRX cycle, RAN4 should treat this whole DRX cycle as LBT failure. Therefore, the terminology for the DRX cycles with LBT failures has be clarified as “ DRX cycles with at least one SMTC occasion where there are no SSBs available at the UE”. The corresponding text the cell reselection requirement are attached below for reference [1]: 

· Ms is the number of DRX cycles with at least one SMTC occasion where there are no SSBs available at the UE during Nserv_CCA, and Ms< Ms,max
· Md, Mm, Me are the number of DRX cycles with at least one SMTC occasion where there are no SSBs available during the Tdetect,NR_Intra_CCA, Tmeasure,NR_Intra_CCA and Tevaluate,NR_Intra_CCA, and Mm ≤ Mm,max, Md ≤ Md,max and Me ≤  Me,max

However, this clarification should be also applied to other RRM requirements with DRX, including the following NR-U requirements: 
· RLM (8.1A.2)
· CBD (8.5A.3)
· intra-frequency measurements without/with gaps (9.2A.5, 9.2A.6)
· inter-frequency measurements (9.3A.4, 9.3A.5)
· L1-RSRP (9.5.4A)


This clarification can be added as a note for the requirements. One example is provided below:  

Table 8.1A.2.2-1: Evaluation period TEvaluate_out_SSB,CCA and TEvaluate_in_SSB,CCA
	Configuration
	TEvaluate_out_SSB,CCA (ms)
	TEvaluate_in_SSB,CCA (ms)

	
	RLM-RS SSB Es/IotNote4 ≥-7 dB
	RLM-RS SSB Es/Iot Note4 <-7 dB
	

	no DRX
	Max(200, Ceil(17*P)*TSSB)
	Max(200, Ceil(24*P)*TSSB)
	Max(100, Ceil((5+Lin)*P)*TSSB)

	DRX cycle≤320
	Max(200, Ceil(1.5*15*P)*Max(TDRX,TSSB))
	Max(200, Ceil(1.5*20*P)*Max(TDRX,TSSB))
	Max(100, Ceil(1.5*(5+Lin)*P)*Max(TDRX,TSSB))

	DRX cycle>320
	Ceil(13*P)*TDRX
	Ceil(16*P)*TDRX
	Ceil((5+Lin)*P)*TDRX

	NOTE 1:	TSSB is the periodicity of the SSB configured for RLM. TDRX is the DRX cycle length.
NOTE 2:	Lin is the number of RLM-RS SSBs which are not available at the UE during TEvaluate_in_SSB,CCA for no DRX; Lin is the number of DRX cycles with at least one SMTC occasion where there are no SSBs available at the UE during TEvaluate_in_SSB,CCA when DRX is used; where Lin ≤ Lin,max.
NOTE 3:	Lin,max=7 for Max(TDRX,TSSB) ≤ 40 assuming TDRX=0 for non-DRX case, 
	Lin,max=5 for 40<Max(TDRX,TSSB)≤320,
	Lin,max=3 for TDRX>320.
NOTE 4:	RLM-RS SSB Es/Iot is the averaged Es/Iot over the most recent previous out-of-sync evaluation period.




[bookmark: _Ref54190708]Proposal 1: For the requirements with DRX in use, to add notes “X is the number of DRX cycles with at least one SMTC where there are no SSBs available at the UE during … period when DRX is used”, where
· X shall be replaced depending on the requirement with:
· RLM-RS SSB in RLM requirements,
· CBD-RS SSB in CBD requirements, 
· SSB in L1-RSRP measurement requirements, 
· SMTC in measurement requirements other than RSSI requirements and L1-RSRP,
· and … shall be replaced with what is appropriate:
· evaluation,
· detection,
· identification,
· measurement, etc.
3 Summary
In this paper, the clarification for DRX with unavailable SSBs in NR-U requirements have been discussed. 
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